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Dr. Laurie S. Starkey, Cal Poly Pomona
Chapter 21, Enols & Enolates, Part 2 — Practice Problems

What is the most likely first step in the

G.-
mechanism for the given reaction? A) co.  :OH
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2} Which of the following could NOT be a product
of an aldol reaction?
O HO
A) o B) C)
0
HO 0
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D) E) *ﬁH
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For an aldol condensation conducted with NaOH in water, which 3
of the following steps is likely for the mechanism to lose water?
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Predict the major products for the following reactions. 5
0 NaOH O Provide a
, QL 1) EtONa, EtOH mechanism
H Iﬁéﬁ 0 2) H;0™ mild for the second

reaction.




Predict the major product.
@] 1) LDA, -78°C
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To obtain a neutral product, each of the following
reactions requires an acidic aqueous workup EXCEPT:
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